

Reach Cyber Charter School SPECIAL BOARD MEETING

Pursuant to the Pennsylvania Open Meeting Laws, notice is hereby given to the members of the Reach Cyber Charter School Board and the general public that the Board will hold a meeting open to the public on:

Date and Time:

Wednesday, March 24, 2021 at 9:00 a.m.

Meeting Location:

750 East Park Drive, Suite 204 Harrisburg, PA 17111

-And via teleconference-1(800) 747-5150; Code 703-4511#

Below is an agenda of all items scheduled to be considered. Unless otherwise stated, items may be taken out of the order presented on the agenda at the discretion of the Chair.

Reasonable efforts will be made to assist and accommodate persons with a disability. Please contact Jane Swan at (717) 704-8437.

AGENDA

- I. Call to Order and Roll Call D. Taylor
- II. Public Comment D. Taylor

The Board welcomes participation by the members of the public both in-person and telephonically. To address an item on the agenda, before the scheduled start of the meeting, an individual must provide their name and short description of the agenda item on which they wish to comment to the Chair, along with any materials they want to have distributed to the Board. Individuals who wish to address the Board telephonically must contact the Principal or Board President by phone or by email at least twenty four (24) hours before the scheduled start of the Board meeting. If the individual wants to provide any written materials to the Board, these should be emailed to the Principal or Board President at least twenty four (24) hours before the scheduled start of the meeting.

The total time for any individual to present, either in person or via telephone, on an item on the agenda shall not exceed three (3) minutes, unless the Board grants additional time.

Individuals desiring to make a formal presentation to the Board on an item not on the agenda but desiring it be placed on the agenda must provide notice and written submissions detailing the subject of the presentation to the Principal or Board President at least fourteen (14) days prior to the meeting. Any such presentations shall not exceed fifteen (15) minutes in duration, unless otherwise permitted by the Chair.

- III. Routine Business D. Taylor
 - a. Approval of Agenda
- IV. Oral Reports
 - a. School Leader's Report J. Swan
 - i. Update on State Testing
 - ii. Update on Use of Zoom
- V. Action Items
 - a. Approval of Attestation Form to Allow School Staff to Return to In-Person Evaluations, State Testing and In-Person Meetings with Social Workers and Family Mentors (attached) – J. Swan
- VI. Adjournment and Confirmation of Next Meeting Wednesday, April 21, 2021 at 9:00 a.m.



Attestation Ensuring Implementation of Mitigation Efforts

Whereas, the commonwealth is experiencing its highest daily case counts since the beginning of the 2019 novel coronavirus (COVID-19) pandemic, resulting in increased hospitalizations, nearly 10,000 deaths, and heightened risk to the most vulnerable Pennsylvanians;

Whereas, the Wolf Administration has identified new mitigation efforts, including an attestation process for public school entities that elect to continue in-person instruction for students in counties designated as exhibiting "Substantial" transmission of COVID-19 for two or more consecutive weeks based on a disease incidence rate of 100 or more cases per 100,000 residents and/or a polymerase chain reaction (PCR) percent positivity rate of 10 percent or greater;

Whereas, as of November 23, 2020, 59 of Pennsylvania's 67 counties met one or both of these standards;

Whereas, Pennsylvania <u>recommends that school entities in counties with Substantial disease</u> transmission transition to remote-only instructional models;

Whereas, as of November 20, 2020, many public school entities have exercised their local discretion to continue in-person instruction for all or some students;

Whereas, the resurgence of COVID-19 across the nation, region, and commonwealth requires more consistent and intensive implementation of disease mitigation efforts;

Whereas, these mitigation efforts include an attestation process for any public school entity (a "public school entity" is defined as a school district, intermediate unit, charter school, cyber charter school, or a career and technical education center) that elects to continue in-person instruction as of November 30, 2020 while the county in which it is located is under a Substantial disease transmission designation for at least two consecutive weeks; and

Whereas, this attestation process supplements and does not supplant existing public health guidance issued by the Pennsylvania Department of Health and the Pennsylvania Department of Education;

AND NOW, THEREFORE, the president/chair of the school entity's governing board and chief school administrator, in accordance with the Order of the Secretary of Health dated November 24, 2020, entitled Order of the Secretary of the Pennsylvania Department of Health Directing Public School Entities in Counties with Substantial Community Transmission to Attest to Health and Safety Protocols, attest to one of the following (SELECT ONE OPTION):

All or some of the students within the public school entity are currently receiving in-person instruction and:

1. We have read the <u>Updated Order of the Secretary of the Pennsylvania Department of Health Requiring Universal Face Coverings</u>, effective November 18, 2020, including necessary exceptions and <u>associated guidance</u>, and affirm the public school entity is complying and will continue to comply with and enforce the Updated Order of the Secretary of the Pennsylvania

Department of Health Requiring Universal Face Coverings, including necessary exceptions and associated guidance; and

2. We have read and agree to follow the Recommendations for Pre-K to 12 Schools Following Identification of a Case(s) of COVID-19, when cases of COVID-19 occur within the public school entity.

OR

The public school entity has transitioned to a fully remote learning model and will continue to use a fully remote learning model until the county (or counties) in which the public school entity is located is no longer experiencing Substantial disease transmission for two consecutive weeks.

*** A public school entity in a county with Substantial level of disease transmission that is currently providing a fully remote learning model and that elects to transfer to in-person instruction must resubmit this attestation prior to providing in-person instruction.

(Name of Public School Entity)

affirms that it has

attached this signed Attestation to its Local Health and Safety Plan (the "Plan") in order to reflect provisions above, and that, by doing so, this attestation becomes part of the Plan and has been or will be fully implemented by November 30, 2020, or three business days after the county in which the public school entity is located has been designated as exhibiting Substantial disease transmission for the first time, should the public school entity in a county with Substantial level of disease transmission for two or more consecutive weeks elect to offer or continue offering in-person instruction for all or some students; and

Further, the Local Health and Safety Plan, inclusive of this attestation, has been posted on the public school entity's publicly accessible website and filed with the Pennsylvania Department of Education by email submission at RA-EDCONTINUITYOFED@pa.gov.

Signed:	
(Signature of Governing Board President/Chair)	(Signature of Chief School Administrator)
President, Governing Board Chair, Governing Board	Chief School Administrator
(Printed Name of Governing Board President/Chair) Date Signed:	(Printed Name of Chief School Administrator) Date Signed:

Quote - Q21030710

ADDRESS

AquaPhoenix Scientific, Inc. 860 Gitts Run Rd Hanover, PA 173318123 (717) 632-1291 orders@aquaphoenixsci.com

TO

Customer Acct. C5541 Reach Cyber Charter School

, United States of America Requested by: Andy Gribbon



Date	03/22/2021	
Quote No.	Q21030710	
Expiration Date	05/21/2021	

Item	Description	Qty	Unit Price	Price
Code TBD	Reach K-2 STEM Base Kit	2400	97.87	234,888.00
Code TBD	Reach Kindergarten STEM Kit	850	15.81	13,438.50
Code TBD	Reach Grade 1 STEM Kit	850	21.02	17,867.00
Code TBD	Reach Grade 2 STEM Kit	700	13.54	9,478.00
Code TBD	Reach 3-5 STEM Base Kit	2100	73.54	154,434.00
Code TBD	Reach Grade 3 STEM Kit	600	36.34	21,804.00
Code TBD	Reach Grade 4 STEM Kit	800	40.07	32,056.00
Code TBD	Reach Grade 5 STEM Kit	700	75.24	52,668.00
Code TBD	Reach 6-8 STEM Base Kit	2400	110.95	266,280.00
Code TBD	Reach 6-8 STEM Refill Kit	2400	18.53	44,472.00
Code TBD	Reach High School STEM Base Kit	3100	133.56	414,036.00
Code TBD	Reach High School STEM Refill Kit	3100	38.50	119,350.00

Terms and Conditions:

Quote valid for 30 days.

Refer to quote number when placing your order. There may be a restocking fee associated with returned items.

A processing and handling fee will be applied to all collect shipments.

For our Terms and Conditions visit:

www. a quaphoen ix sci.com/terms- and- conditions

SUBTOTAL: 1,380,771.50 USD

Quotation Prepared By: Amanda Krajan

Payment Terms: NET30 30 Days

FOB: Hanover, PA

Page 1 of 1